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Insiructions:
. Wrke [egibly
i, Scientific and nom proprammable caleulators are permitied

Part A
(3€) % 2 M= 0Marks)

Whit is meant by Thrasting?

Define Rowtional lateney.

Namc anty two technigues 1o solve the External fragmentation.
Pari 13

Mo
L I o R

(200 x 5 M= 10 Marks)

4. Listdown the steps in handling (he page fauly.

3. Given memory partitions of 100K, 500K, 200K, 300K, and 6001 (in order), how would each of the
First-fit, Best-fit, and Worst-fit alporituns place processes of 212K, 417K, 1128, and 426K fin
ordery? Which algorithm makes the most efficient use of memory?

Pari C
(1 O x 7 M= F4Marks) -
6. Consider the following page reference siving:
4,302,342 1,5,6,2, 1,2, 4, L6210

i How many page faults would oceur lor the following replacement alporithms, assuming three
Irames and remember all frames are initially empty,

a. LR replacoment
b, FIFO replacement

7. Suppose that a disk dreive has 300 cylinders, aumbered 0 fo 299, The drive is currently sCrving a
request at cylinder 143, and the previous request was at cylinder 125, The queuc of pending requests,
in FIFL) order, 15

86, 147, 213, 177, 294, 150, HI2, 175, 130

Sarting frons the current head position, what is the fotal distance (in cylinders) that the disk arm
moves Lo satisty all ihe pending requests, lor cach of the following disk scheduling algorithms?

g FOFS b SSTEF e, C-SCAN  d. C- LOOK,
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Instructions:

Sl FFL LR

B R

Answer the following guestions using banker’s algorithm.

i
I,

Write lepibly

o

Selentific and non programmable calculators are permiticd

(40 % 2 M= EMarks)

List two examples of deadlocks that are not related 1o a computer-system environment.
Whal are Threads? Give any two advantages of mullithreaded programming,
What is meant by race condilion in Processes synchronization?

Wrile a brief notc on - mutex and semaphore.

(20 x 6 M= 12 Marks)

Describe the producer consumer problem. Explain the solution using semaphores with an aid of

pseado code.

IMscuss the three nequirements 1o solve the critical-section problem.

Consider the following spapshot of a system:

(1 0 x O M= 10 Marks)

Process Allocation MAX Available |
.............................. ABCT ABCD ARCD
T ... bol2 00132 ] W
T = 1090, 1750
i (354 2356
---------------- —]]3 tod6 3 2 ﬁﬁﬁ_ﬂ__z__“
i P4 001 4 0656

FEEETNY

What is the contenl of the maiy Neced?

Is the systen: in a safe slale?

c. Ifarequest from process 1 arrives for (0,4,2,0), can the request be granted immediately? Give the
order of cvaiualion,

Page 1l of 1



PRESIDENCY UNIVERSITY, BENGALURWY
SCHOOL OF ENGINEERING

LAl 1.'I'||".l|.\_1:l.ll;k
A MEH LPLAIER (R S

Max Marks: 30 Max Time: 30Mins Weinhtage: 15 % Sel A
TEST 1

1T Semester 20 6-2007  Course; COE A 280 Operaiing Systems 25 Tebroary2017

Instructions:

i Wrile fepibly
. Secientific and non programmable calculatars are permitted

Lo (40 x 2 M= 8Marks)
What 1s meant by praceful degradation?

Briefly describe the purpose of Virtualization Manager?

List any four reasons {or process lermination?

Iifferentiale between avtomatic buffering and explicit buffering

U . R

ha

Fari I}

(2 Qx5 M= 10 Marks)
3. Complete the diagram showing the CPU swilching between processes PO, P & P2. For the
following seenario show the status of the process contral block {PCB) which is saving and relonding
i a time straring environmeni.
Let 0,01 and P2 be three processes with burst time 12 milliseconds, 8 milliseconds and 172
milliseconds respectively.
PO, PI and P2 will wait for I/C afier every 4 milliseconds of execution for 4 miiliseconds.
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6. Explain memory hierarchy by comparing and contrasting with space and access time
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